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QUESTION 1

Which BGP attribute Is used to detect touting loops? 

A. AS path 

B. MED 

C. local preference 

D. next hop 

Correct Answer: A 

 

QUESTION 2

What are two types of SlDs used in segment touting? (Choose two.) 

A. node 

B. adjacency 

C. link 

D. interface 

Correct Answer: AB 

Explanation: https://zartmann.dk/sr-intro/ 

 

QUESTION 3

Exhibit 
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Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network
from Site 1 to Site 2 as shown in the exhibit? (Choose two.) 

A. R2 will perform a lookup using the mpls.0 table. 

B. R1 will perform a lookup using the lnet.3 table. 

C. R1 will perform a lookup using the mpls.0 table. 

D. R2 will perform a lookup using the inet.3 table. 

Correct Answer: A 

 

QUESTION 4

Which two statements are correct about IS-IS? (Choose two.) 

A. A level 1 only router can never form an adjacency with a level 2 only router. 

B. For level 2 adjacencies, the area IDs can be different. 

C. For level 2 adjacencies, the area IDs must be the same. 

D. A level 1 only router can form an adjacency with a level 2 only router. 

Correct Answer: AB 

Explanation: A Level 1 router can become adjacent with the Level 1 and Level 1-2 (L1/L2) router. A Level 2 router can
become adjacent with Level 2 or Level 1-2 (L1/L2) router. There is no adjacency between L1 only and L2 only router.
HOWEVER: If two routers are in different areas, they can only form a Level 2 adjacency. As such, two routers in
different areas can NOT form a Level 1 adjacency. If you want two routers to form a Level 1 adjacency, they have to be
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in the same area. 

 

QUESTION 5

Click the Exhibit button. 

All devices in the network are configured correctly and the path requirements are valid. Referring to the exhibit, which
two statements are correct? (Choose two.) 

A. The primary LSP will be signaled, and its state will be up. 

B. The secondary LSP will not be signaled, and its state will be down. 

C. The secondary LSP will be signaled, and its state will be up. 

D. The primary LSP will not be signaled, and its state will be down. 

Correct Answer: AB 
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